R7 EfEst RHliRH HERER

A Bify R H=E
7)o L 73 9em7R-y 1,000
2|7ra=7r 2 9em7R-y 1,000
| AY=7 2 9em7R-y 3,000
4lho+ 2 10.5cm7Ry b 100
5|1 F>F3avmw 7 9em7R-y 1,000
6|17t L 7 9em7Ryk 1,000
1YILET 7 9em7R-y 1,000
8| R—/\—TaI)L 2 9em7Ry 1,000
IFRTA—3F5— 7 9em7Ryk 1,000
103 xR 7.3 gcm7Ry 1,000
1|kL=7 7 9em7Rw b 3,000
121730 7 9em7Ryk 1,000
13|78 — 2 9em7Rwk 2,000
14|EX4S 73 9em7Rwk 2,000
15|RI=7 73 9em7R-wk 5,000
16| RF2=7 73 9em7Rwk 5,000
17|1o=7 73 9em7Rw bk 3,000
18| RVAX 73 9em7Ryk 2,000
19|<1)—ad—JLK 23 9em7Rw b 2,000
20(ASRTUI L 2 9em7ARy 2,000
21[ERO—F 23 9em7Rw b 2,000
2| =F=FJy 73 9em7Rw b 4,000
23|32 oLF ST3T57 73 9cmP 96
24| 7 A AT IL— 23 9em7Rw b 1,000
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